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Term-End Examination 
cir) 
(r) 	 June, 2017 

ES-362: COMPUTERS IN EDUCATION 

Time : 3 hours 	 Maximum Weightage : 70% 

Note : (i) All the four questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 

What is test item ? Discuss briefly its various types. 

OR 

What is unitized package ? Discuss the various 
methods to integrate it. 

2. Answer the following question in about 
600 words : 

What is the structure-wise difference between 
tutorial and reference section ? 

OR 

What is on-line documentation ? Discuss its 
advantages and disadvantages also. 

3. Answer any four of the following questions in 
about 150 words each : 

(a) List down the characteristics of computer 
conferencing. 
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(b) What is computer-aided performance test ? 
(c) Compare various methods of changeover 

from existing system to new computer-based 
system. 

(d) Discuss briefly about PERT chart. 
(e) What is the advantage of MIDI over 

digitized sound ? 
(f) Differentiate between interpreter and 

compiler. 

4. 	Answer the following question in about 
600 words  : 
In the Study Centre you must have organised a 
brainstorming session on "Benefits of Computer 
in Open Learning System" with the help of your 
teacher/counsellor. Write a report highlighting 
the major points evolved and their relevance/ 
importance in the context of classroom teaching. 
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